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23,700

23,700
7,110
16,590

23,700

S

M

4,000
2,800
1,200

2,500

1,500

401 Al HIZL S 0HYI

4,000
2,800
1,200

2,500

1,500

01 A&l
0 NASE LD XF

W (BAMICH)

HJ

4,000
4,000
2,800
1,200

2,500

1,500

XH

SLES(ZMIISM)

700,000

611,800

88,200

WRHHXIZ(ZHOIS )

700,000

611,800

88,200

LHEHeHXI=

700,000

611,800

88,200

701 JIEt=] A

700,000

611,800

88,200

IS

01 JIEtZ/ AIA
sSAE =

X4

0 ==X

700,000
600,000
100,000

611,800

88,200




2A:

=y wlkesin

M HYRAZH(INOIGZL)
Chel: J1=2 &l EER=E)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
AY2LZHI(Z MG ) 28,360 32,440 24,080
Jl=23H| 28,360 32,440 24,080
JI=23Hl 28,360 32,440 24,080
201 fer= 3| 21,760 25,840 4,080
01 At 2t 21,760 25,840 24,080
0 2 (2S) 560,002+ 16 8,960
0 SEHI(SS) 8,000& 16100 12,800
203 HR=H] 6,600 6,600
01 J|2=2gegR=a] 3,000 3,000
0 BNEAI=E 3,000
M A2 LRFEI 3,600 3,600 0
0 2N29g 300,000 x 12 3,600




